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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt Al questions.
3. Answers may be written either English or in Hindi; but the same medium should
be followed throughout the paper. '
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l.. Distinguish between any two of the following : (5x2=10)
frfoRaa 9 & fooedl @ H s = =il
(i) Truth and validity
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(i) Argument and Explanation
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(i) Deductive and Inductive argument

Ao o SRR e

2. What are the basic functions of language ? Which language-use is the logician’s
chief concern ? Discuss. %)
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OR / 3terar

Explain agreement and disagreement in belief.

fazarm o weala qur swealy & =R ARNT |

3. (a) Explain and illustrate any two of the following fallacies : (3x2=6)

frafafaa § @ fedl Q1 aateml <t I ik =ren =i

(1) False cause

frarnor 3w
(i) Petitio-Principii
qheh Y
(1) Fallacy of composition
ey AW
(b) Identify and explain any two of the following fallacies : (4%2=8)

Faffag ¥ fe=El @1 Jatew = TewifRe 9wt I9at @ ST

(1) Mohan is a student and he is hardworking. Therefore all students are
hardworking.

A U fqaeil sl o' afomt 21 3, et faeneh o 2

(i) To give charity to young healthy beggars is wrong. Therefore, charity

is a wrong policy.
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(i) Can you expel a student from college who lost his father one month
ago and is the only support of his family.

T 9 T O faemeil i et @ Renifia o g 2 e ve w8 vt
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4. (a) Reduce the following propositions into their standard logical form.

(b)

(any three) (3)

P aaa @ 9T W ARE R ¥ R (@ 9
(1) Not every girl is Beautiful.
TS A Grol 8l B |
(i) Metals are always solid.
1Y B S BR B |
(i) Few - men are happy
A3 B AT gE@ B D
(iv) Most plants are medicated.
Jftrerar qer sAufege B €
(i) Do the conversion and the contraposition of the following :

fafafaa &1 gRad T FfaaRadT St :

Some students are intelligent.
5 BT TR |

OR / 3rerat
All news-readers are journalists.

N TEREEE TAEHR B ® |
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5. (a)
(b)
6. (a)

4

@) Do the obversion and the contraposition of the following :

FrafaRaa = gfaads 9o FR9RkadT afew :

No terrorists is innocent.

FXE N JcRars A S B |
OR / Jrerat
Some dogs are not wild animals. (3x2=6)
HS HA WA THR 8 3 |
If ‘No Soldiers are traitors’ is true, what can be inferred about the
truth/falsity of its opposites ? 3)

afle ‘g N ROl I T 2w 2, A e e Al A o/ e
& 9R N T A R O aeear @ 7

Write a note on Existential Import. 5)

qares g R feon folae )

Explain any one of the following : 3)
ffiaa & 9 fordl g &t warem S
(1) Hypothetical Syllogism
sty ~awfa
(ii) Dilemma
fefee
Reduce any two of the following into their standard syllogistic form and test
their validity/invalidity using Rules of Syllogism. (4x2=8)

fFrfoRaa 9 ol @ gl | S8 wHe aiffe SR W ffae T
gl & e @ waRT & It duer/ sdean sife
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() All who eat spicy food are ulcer patients because all spicy food is
unhealthy food and all ulcer patients eat unhealthy food.

T T AR Ao I B AR B AAS B B i WaeleR Wi
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(1)) Since no leftists are capitalists and some wealthy stockbrokers are not
leftists, so some capitalists are wealthy stockbrokers.

it g SNt TETEN Golardl TSl @ Ul S ol ARG AI L B
FS Yolard ol eReele € |

(iti) All enzymes are proteins, as all enzymes are edible substances and all

proteins are edibie substances.

R

(b) Test the validity/invalidity of any one of the following using Venn
diagram. 4)

ﬁwﬁﬁaaﬁﬁww%m/ﬁm%?iaﬁa%m%aﬁm
() All - II

(i) EAE — III

7. (a) Symbolise any four of the following statements : (1x4=4)
frfoiaa % A feedl aR FaAl &1 TRIERT St |
(i) We cannot go to see the cricket match unless we get tickets. (C, T)
= frde A9 I T S FEA, O qF B [CHT Aol o |
(i) Farmers will be happy if and only if it rains in time. (H, T)

e |m A aft 3Rk Paw Al @@ A T F@ 2
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(i) If soccer is the world’s most popular sport, then football and basketball
will lose fans. (S, F, B) :

IR faza ¥ Aax v 9RE @ 2, A Fesial 3N TERAA D TNGH FH 8
QA | '
(iv) You will receive the award. if you practice. (A, P)

TR ™ e afe @ s A |

(v) If you go to Tirupati, then if you visit the holy shrine then get prasad
for me. (T, H, P)

afe g foeafa wal, @ afe ofes @ & oge w @ R fore wEe o e

(b) Use truth table method to determine the following statement forms as
tautologous, self-contradictory or contingent, (any one)

oo [ g fuifRa i fe Feafafaa | =9 a1, e - smare s
FIT 2 | (B TH)

@O [poevylo@- 1)
M [(p29)-(@>)]>(p>1) (5)

(c) Test the validity/invalidity of any one of the following using truth table
method.

geganet fafY g fRefafaa ¥ @ et ves & duar/ sduan wife o

1 AoB
B> C
/oo ADC

i) AD~B /.. AS(C>~B) (5)
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